MiA M IDADE ' MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Palm City Millwork
3313 SW 42™ Ave.
Palm City, FL 34990

Scopk: .

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code. '

DESCRIPTION: Aluminum Clad Mahogany Outswing & Inswing French Doors

APPROVAL DOCUMENT: Drawing No. 1197, titled “Aluminum Clad Mahogany 1 3/4” Outswing & Inswing
French Doors”, sheets 1 through 12 of 12, prepared by W.W. Schaefer Engineering & Consulting, P.A., dated
12/9/02, signed and sealed by Warren Schaefer, P.E., bearing the Miami-Dade County Product Control Approval
stamp with the Notice of Acceptance number and approval date by the Miami-Dade County Product Control
Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 as well as approval document mentioned above.

The submitted documentation was reviewed by Theodore Berman, P.E.

NOA No 03-0116.10
Expiration Date: May 22, 2008
Approval Date: May 22, 2003
Page 1




Palm City Millwork

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

A. DRAWINGS
1. Manufacturer’s die drawings and sections.
2. Drawing No. 1197, titled “Aluminum Clad Mahogany 1 3/4” Outswing &
Inswing French Doors”, sheets 1 through 12 of 12, prepared by W.W. Schaefer
Engineering & Consulting, P.A., dated 12/9/02, signed and sealed by Warren
Schaefer, P.E.

/

B. TESTS
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC,TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94

4) Large Missile Impact Test per FBC, TAS 201-94

5) Cyclic Wind Pressure Loading per FBC, TAS 203-94

6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of an aluminum clad
wood outswing French door, prepared by Hurricane Test Laboratory Inc., Test
Report No. HTL 0067-0504.02 dated 5/23/02, signed and sealed by Vinu
Abraham, P.E.

2. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC,TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94

4) Large Missile Impact Test per FBC, TAS 201-94

5) Cyclic Wind Pressure Loading per FBC, TAS 203-94

6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of an aluminum clad
wood outswing French door, prepared by Hurricane Test Laboratory Inc., Test
Report No. HTL 0067-1202.02 dated 5/23/02, signed and sealed by Vinu
Abraham, P.E. ¢

C. CALCULATIONS
1. Anchor Calculations and structural analysis, prepared by W.W. Schaefer
Engineering & Consulting, P.A., dated 1/8/03, signed and sealed by Warren

Schaefer, P.E.

(Chorvecum=.

Theodore Berman, P.E.

Deputy Director, Product Control Division
NOA No 03-0116.10

Expiration Date: May 22, 2008

Approval Date: May 22, 2003



Palm City Millwork

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

D. MATERIAL CERTIFICATIONS

1.

2.

2.

3.

Notice of Acceptance No. 02-0117.06 issued to Solutia, Inc. for “Saflex HP and
Saflex HPc” dated 4/18/02, expiring on 4/18/03.

Notice of Acceptance No. 01-1204.01 issued to EI. DuPont DeNemours, Inc. for
“Sentry Glass (R) Plus” dated 1/17/02, expiring on 1/14/07.

Notice of Acceptance No. 01-0205.02 issued to Solutia, Inc. for “Saflex /
Keepsafe Maximum” dated 5/17/02, expiring on 5/21/06.

Notice of Acceptance No. 99-0302.04 issued to UCB Chemicals Corporation for
“Uvekol - Liq. Resin to adhere Glass” dated 2/8/01, expiring on 2/8/04.

E. STATEMENTS

1. Statement letter of conformance, dated 1/9/03, signed and sealed by Warren
Schaefer, P.E. '

2. Statement letter of no financial interest, dated 1/9/03, signed and sealed by
Warren Schaefer, P.E.

3. Laboratory compliance letter for Test Report no. HTL 0067-0504.02, 0067-
1202.02 issued by Hurricane Test Laboratory Inc., dated 12/19/02, signed and
sealed by Vinu Abraham, P.E.

F. OTHER
1. Letter from the consultant stating that the product is in compliance with the

Florida Building Code (FBC).

'%—y@c ,&Wﬁé’/‘ﬂ

Theodore Berman, P.E.

Deputy Director, Product Control Division
NOA No 03-0116.10

Expiration Date: May 22, 2008

Approval Date: May 22, 2003




DRAWN BY: CHECKEIE’S py:
] TAW. W.W.S.
4 1/4" MAX. FRAME WIDTH ( FW) 4 1/4" MAX. FRAME WIDTH (F.W.) oo
18" MAX. 37 18" MAX @_ @ 1=16 12/03/02
; MAX.—. l: .—’ STRIKE PLATE REINF. BAR (TYP g 6 MAX. b ': ‘I STRIKE PLATE‘\ @ RENF. Bk VP E
(TvP.) V B NE) o (TYP.) 7 N\ BOME) g
™y : /] | L [ 4
l ;i/ = \ == fﬁs X ‘_L ri/ \ 7 = \
/ . \ \ \ «- ./ H\ \\\\ /
M- - » ] ™~ - z
NO. 10 SCREWS OR 3/16k TYP. FRAME SCREW AS\ SEE 'CORNER H NO. 10 SCREWS OR 3/16"X TYP. FRAME SCREW AS T_ , 5
\ || SHOWN (4 AS SHOWN CONSTRUCTION CONCRETE SCREWS INTO 5 || SHOWN (4 AS SHOWN SEE "CORNER |1a
CONCRETE SCREWS INTO P REQUIREMENTS” R CONSTRUCTION 1
SUBSTRATE (5 THROUGH 'y || ACROSS HEAD AND AT ; SUBSTRATE (5 THROUGH 1l || ACROSS HEAD AND AT REQUIREMENTS [ &
TRIKE PLATE) SEE |1 16” 0.C. AT SIDES). SEE ON SHEET 10. STRIKE PLATE) SEE 16" 0.C. AT SIDES). SEE >
S ) ; ; » ON SHEET 10. ||3
"CRAME ANCHOR FRAME ANCHOR FRAME ANCHOR FRAME ANCHOR S
REQUIREMENTS TABLE” ON REQUIREMENTS TABLE" ON . REQUIREMENTS TABLE” ON REQUIREMENTS TABLE™ ON g
N THIS SHEET FOR OTHER THIS SHEET FOR SCREW L1 THIS SHEET FOR OTHER THIS SHEET FOR SCREW |l T .
FASTENER REQUIREMENTS. REQUIREMENTS, ————— | FASTENER/ REQUIREMENTS. REQUIREMENTS, ———— g
/
Camn) ‘
= / A\ = / A
. [ § HINGE
o L \ HINGE [y b \
= S 4 ] \ £ S / INACT E‘L \ —
I = —] INACTIVE PANEL AL g | — & 3 ] R N -
é o LOCK HARDWARE \ % : LOCK HARDWARE \ § % |
e oPPoSTe N . Shisme ||| 2] Sdg
[n e 2 L K Q e g o2
g o /M /I AN “ o (K vV ACTIVE S| 225
-2 OO NACTVE () > ACTVE oD : = T INACTIVE &7 < e 2| 25=5
= 33 » — —_ " s
,\t\ ” \ _ 9l [ HANDLE / S 16" MAX. \ _ ] HANDLE / 2|5 E é S
= | 16" MAX. OC. \ NO. 10 SCREWS OR / . 0.C. \ NO. 10 SCREWS OR / s | VT
i (e \ T3 || 3/16" CONCRETE / | (vP.) \ I o SUBSTRATE 2l
2 SCREWS | Z |-
N o S TRATE HINGE REQUIREMENTS A
1 7\ (ONE AT FACH SILL | i \ (ONE AT EACH SILL 2l
CORNER & 5 THROUGH DOOR HEIGHT | # HINGES REQ'D \ g%EERPEcA Tg)THgggGH ° §
) STRIKE PLATE) SEE 50" & LESS 3 N STRIKE PUTE) Sy
RENE PLATE— \ 36 FRAME ANCHOR > REINF. PLATE— \ 36 , E
(TYP. EACH | || REQUIREMENTS TABLE” ON OVER 84 4 ﬂ (TYPPA}«?L)CH | || REQUIREMENTS TABLE" ON o a
PANEL) i} || THIS SHEET FOR OTHER \ [} || THIS SHEET FOR OTHER % Q g
N\ J FASTENER REQU]REMENTS,; ‘ I FASTENER REQUIREMENTS7 ‘ % E ane
: ) . 1 We 837
i | ] : " z3 .73
\ VA N 8" MAX. 50 &8
STRKE PLATE ) B : STRKE PLATE | m () 3 69 gy
H % i = ME ELEN
\/' II 4 "vn L Ll I D \/l |I D I r 2 E—j’ ug§
6" MAXJ ‘__ " MAX. ‘__ = | YoEz)
EXTERIOR ELEVATION ™vp.) INTERIOR ELEVATION DOUBLE RECTANGULAR INSWING DOOR 42 1053 280
RECTANG OUTSWING DOOR WITH MULTI-POINT LOCK SYSTEM b |2 .y 838
DOUBLE CTANGULAR N ALLOWABLE DESIGN LOADS : B =% oy
* FRAME ANCHOR REQUIREMENTS TABLE (1) POSITNE L e
OPENING TYPE JAMB TO OPENING MINIMUM | MINIMUM LOCK SYSTEM USED WATER RESISTANCE |WATER RESISTANCE | NEGATIVE
GENERAL NOTES (SUBSTRATE) FASTENER TYPE EMBEDMENT [EDGE DIST. REQUIRED NOT REQUIRED .
1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED 2X_ WOOD FRAME OR BUCK|  NO. 10 SMS SCREW 11/4 1" PANIC DEVICE ] @8
FOR DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE CMU/CONCRETE (13/16” CONCRETE SCREWS| 1 1/4’ 2" (APPLICABLE TO OUT-SWING N/A 50 PSF 45 PSF i
2. BUCKING, OPENINGS & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & | (1) coNGRETE SCREWS SHALL BE ELCO OR ITW RAMSET/RED HEAD TAPCONS, HILI KWIK-CON I S 5g
INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE. P - v
3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS OR POWERS RAWL TAPPER (HARDENED STEEL OR S.S.). WITH kthlJI:TSIWIi(();lN[T)OORS N/A 60 PSF 60 PSF E =
& MAY NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. N =
* ANCHOR NOTE: FRAME MAY BE EITHER DIRECT MOUNTED TO THE OPERING, o
4, THE DETAI SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS _
TESTED & PROPOSED FOR WATER, AR, WPACT. CYCLIC & UNFORM STATIC AR MOUNTED ONTO A CONTINUOUS WOOD SPACER, OR ANCHORED TO A M. 2¢4 WITH OUT-SAG 0GRS 60 PSF 60 PSF 60 PSF =
PRESSURE TESTING N CONFORMANCE WITH FLORIDA BULDING CODE PROTOCOLS N0, 3 SOUTHERN PINE WOOD BUCK. WHEN ANCHORED TO A 2X# BUCK, NO.
TAS=201, 202 & 2 . NTED WITH RE WATER INFILTRATION RESISTANCE IS A REQUIREMENT, THE INSWING CONDITION, THE PANIC
5. HESE DO SYSTEMS Al SEEN DESGIED N ACCORDAKCE Wi SPACER, 3/16" CONCRETE SCREVS SHALL BF USED. _ Stx ANCHOR (1) o e s e gt ¢ s LES T 00 s Coe SRR
’ ’ ! » ) EEN TH
AL ANCHORS SHALL BE INSTALLED AS SPECIFED ON THESE DRAMINGS REQUREMENTS TABLE" FOR EMBED REQUREMENTS. PROPER MATERIAL SHALL BE OVERHANG 10 SLL 1S LESS THAN 45 DEGREES, OF WHEN THE UNT 15 INSTALED I A 37
" SPECIFIED EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR USED BETWEEN ALL DISIMILAR MATERIALS (BLOCK/CONCRETE & ALUMINUM). m&xﬁg’?ﬂw AREA WHERE THE UNIT AND THE AREA ARE DESIGNED TO ACCEPT WATER 1 o '1 )
STUCCO. . .




—

I{DRAWN 8Y: ICHECKED &Y
74 1/4" MAX. FRAME WIDTH (F.W.) " LY. WS,
¢ (0p) 18" MAY. STRICE PLATE 74 1/4" MAX. FRAME WIDTH (F.W.) (T
) —=] , 18” MAX.
@ 6 MAX. | .1 STRIKE PLATE 5 =
REINF. BAR (TYP (TYp.) 8
L] ,_EA Pl $ Rl N ™~ |
3 A == > 3 =] >
N 8 3/8" \ [ \ \ it ] [ 3
F |\ < . MAX. DROP P X | N B i
\ \ —INO. 10 SCREWS OR 3/16" 1 {TYP. FRAME SCREW As 5
- NOC. 10 SCREWS OR 3/16" B Il TYP. FRAME SCREW AS (. / CONCRETE SCREWS INTO I SHOWN (4 AS SHOWN 3
CONCRETE SCREWS INTO T 1l sHown (4 AS SHOWN ) N[ 1 SUBSTRATE (5 THROUGH I/ [|ACROSS HEAD AND AT “
SUBSTRATE (5 THROUGH ACROSS HEAD AND AT SEE "CORNER — STRIKE PLATE) SEE 1|4 |116” 0.C. AT SIDES). SEE g
STRIKE PLATE) SFE 16" 0.C. AT SIDES). SEE CONSTRUCTION "FRAME ANCHOR I FRAME ANCHOR g
— "FRAME ANCHOR "CRAME ANCHOR | REQUIREMENTS” _ REQUIREMENTS TABLE” ON } REQUIREMENTS TABLE” ON - &
REQUIREMENTS TABLE" ON REQUIREMENTS TABLE" ON /' ON SHEET 10, SHEET 1 FOR OTHER | THIS SHEET FOR SCREW |l 5
SHEET 1 FOR OTHER THIS SHEET FOR SCREW FASTENER REQUIREMENTS. || || ] 1] || REQUREMENTS. ———— 2
FASTENER REQUIREMENTS. REQUIREMENTS, ———— / '
= / = ~— 26/3/4" MAX. D.LO. —| INJ \
w 4 \ = I Jz AN HINGE
- / N ! — / ! i
= 3 —i / INACTIVE PANEL T N\ (. & 5 I ] N\ - &£
X oo ke |\ X : @ 1Em
w % ACTIVE PANEL OPPOSITE - PANIC =L
Y | OPPQSITE :
§ :, M INACTIV /N LOCK HARDWARE /N 2 z ad i LOCK HARDWARE \/l R 5 ¥ é‘% 2
[y} 0
<> [T INACTVE (77 v ACTVE  SIRT fx v AIVE e ACTIVE = N\ g 3§27
= >
; 84— —26 3/4" MAX. D.LO.—| i} /1 j = l = go } N B é = 352
2 - ] 21 Snw=3
~ - o ~ I = —5%
= | 168" wax. oc. A / - A il / h 2| 3RE
> (TYP.) \ Y/ 7/ ~ 39 / " HINGE T N I HANDLE 4 21"
\ woe \ : / = I3
L — \ / (. \ ! / g 5
\ /4 Neve || / N
N\ 36 / 1 /// N ik / /// TE
\ ) \ I / = o §
i REINF. PLATE g Z }
Bl e N 7 2| & =t
= i | = | (I 5| 228
! 8" MAX. [ 8” MAX. o™ Set
N (TYP.) ] (TYP.) 3 Gg gy
T e = =i
| TTTTT | I | 1T | f 2| .33
. 4 4 \ 373" 3" 3 \ | YaE ]
6 MAX.__ L— STRIKE PLATE NO. 10 SCREWS OR 3/16” CONCRETE SCREWS INTO SUBSTRATE O, MAX. L— A O, 10 SCREWS OR 3/16° CONCRETE SCREMS INTO 2 |38 238
(Tvp.) ' (ve) 1 SUBSTRATE (ONE AT EACH SILL CORNER & 5 AT STRKE ~ [E = |2 83 3871
(ONE AT EACH SILL CORNER & 5 THROUGH STRIKE PLATE) SEE " ; z -
"FRAME ANCHOR REQUIREMENTS TABLE" ON SHEET 1 FOR OTHER LOCATION)  SEE "FRAME ANCHOR REQUREMENTS TABLE" |, | .4 g3%
FASTENER REQUREMENTS ON SHEET 1 FOR OTHER FASTENER REQUIREMENTS. I
. [ I
EXTERIOR_ELEVATION EXTERIOR_ELEVATION =
DOUBLE ARCHTOP QUTSWING DOOR WITH MULTI~POINT LOCK SYSTEM DOUBLE RECTANGULAR QUTSWING DOOR WITH PANIC DEVICE LOCK SYSTEM - u
NOTE: 1) THE PANIC DEVICE CONDITION APPLIES TO OUT-SWING DOORS ONLY AND 2\ 2
NOTE: 1) INSWING CONDITION ALSO APPLIES TO THIS SHAPED DOOR. SEE INSWING S%-IALL NOT BE APPLICABLE TO IN-SWING DOORS. 55 EE
ELEVATION ON SHEET 1 FOR DOOR DETALS. e S
2) PANIC DEVICE LOCK SYSTEM ALSO APPLIES TO THIS SHAPED DOOR | e ag
(OUTSWING CONDITION ONLY). SEE OUTSWING PANIC DEVICE DOOR ELEVATION e .\ K
ON THIS SHEET FOR DETAILS. o § A%
DRAWING NO. REV.
1197
SHEET NO.
2 o 12




_ . | .

DRAWN BY: CHECKED BY:
TJW. W.W.S.
£LOT: DATE:
1=16 12/09/02
150 1/2" OAL w
z
TP FRAME SCREW OR 38 1/8” MAX. FRAME WOTH (F.W.) 74 1/4" MAX. FRAME WIDTH (FW.) — 38 1/8” MAX. FRAME WIDTH (F.W.) ——
MASONRY CLIP 6" OFF ] » » REINF. BAR &
CORNERS AT HEAD OF \ : e o | o 187 NAX G)— (B (”"E”A"E” .
FIXED PANEL UNITS SR A 3", 3" 3" 3" 3" 3" SEE "CORNER
\I 8 | @ STRIKE PLATE 5 2t " V2 " 6 / CONSTRUCTION Z
5 ~ " =
Ll 1] g [RIEE | Ll L REQUIREMENTS 5
' / 71 NVINDN ' = 7= \  ON SHEET 10. 2
“ | // \ / : \ \\ \ / g
N -—lé | J X \ | T :
2 ADDITIONAL FRAME NO. 10 SCREWS OR 3/16" TYP. FRAME SCREW AS g
SCREWS EACH SIDE OF CONCRETE SCREWS INTO [ || SHOWN (4 AS SHOWN y/ -
MULLION (TYP. EACH END) SUBSTRATE (5 THROUGH Hl; || ACROSS HEAD AND AT /4 2
STRIKE PLATE) ~SEE | 16" 0.C. AT SIDES). SEE
"FRAME ANCHOR "FRAME ANCHOR
_ /4 REQUIREMENTS TABLE” ON REQUIREMENTS TABLE” ON
SHEET 1 FOR OTHER THIS SHEET FOR SCREW
FASTENER REQUIREMENTS, REQUIREMENTS. "
/ g1 .
_—y | 8 % K=
L 1 X e < g [os)
= O / | K N O 2| 8273
5 3 — INACTIVE | ACTIVE \ &= ;_ e
= - y o1 49 , 2| Z2=£5
== AN ICTVE PAEL LOCK. HARDWARE 2| S»=8
. CK HARDWARE mE
o2 - < ourswnG (=) N (R qursimG P s | 38
X = 9/ 9 ¥ ~ \Z/ ~ 9 ¥ o/ of &
= ~ e st 1 " H ﬁ — = 5
% < INSWING ﬁ P26 3/4" MAX. D.LO. —— o || G NstinG § g
=16 MAX. 0. ' A anliile NG / [ l - |5
. AN 3 { ® 5
S (TYP.) Y/ N o] 39 / I
\ HANDLE / | HINGE -
| x| o 3
1 \ / - Z| 2 )
/// A\ ’ / /// % ﬁqf ggg
3" / Zak 3
(36) 2l =z 3%
h N R 4 REINF. PLATE /// '3} I-JC_Z? gy
AN .,’ (TYP. EACH : = & F ggg
AR PANEL - 2 g
| | | T8 A 43 |, 55 531
i (TYP.) - gmé& 538
L= - - = - - T — - - < oreaean s = = = 8 G
I 1T 1711 T T 111 l f = 2% "%
6" MAX ’J q 3 3"l3"!3" 3"!3"' q q 3"|3” 3" 3"l3" 3 ( = |3= z
(TYP.) ‘* STRIKE PLATE L
NO. 10 SCREWS OR 3/16" CONCRETE SCREWS INTO SUBSTRATE (ONE AT EACH s i
SILL CORNER OF EACH THE FIXED & OPERABLE UNITS & 5 THROUGH STRIKE . o2
PLATE) SEE "FRAME ANCHOR REQUIREMENTS TABLE” ON SHEET 1 FOR OTHER 3R Ein
EXTERIOR ELEVATION FASTENER REQUIREMENTS. ’ gm 3
~ EXTERIOR_ELEVATION g :
O0XX0 UNIT WITH QOUTSWING DOOR & MULTI-POQINT LOCK SYSTEM Em :z
Approved as complyleg with the L] <t o
NOTE: 1) OXXO DOOR SHOWN. ALL OTHER 4-PANEL CONFIGURATIONS OF Florida Buidiog Cod o= &
SINGLE/DOUBLE DOORS & SIDELIGHTS ALSO APPLY. Date 05/22/05 g
2) OUTSWING CONDITION SHOWN. INSWING CONDITION ALSO APPLIES PER THE NOAS L0 L 1/G . C....
INSWING DOOR CROSS SECTIONS. Mizmd pduct Contre SR O TRE,
3) MULTI=POINT LOCK SYSTEM SHOWN. PANIC DEVICE ALSO APPLICABLE. QWW 1197
SHEET NO.
3 or 12

|



—

- 38 1/8” MAX. FRAME WIDTH (F.W.)
6" MAX.
(TYp.)

——l

I \
\L &
— _/k . _3 SEE "CORNER
TYP. FRAME SCREW AS | CONSTRUCTION.
SHOWN (1 AT EACH REQUIREMENTS
FRAME CORNER & 16" ON SHEET 10.
0.C. AT SIDES). SEE
"FRAME ANCHOR
REQUIREMENTS TABLE" ON L
SHEET 1 FOR OTHER |
FASTENER REQUIREMENTS—~
\ 16" MAX. 0.C.
- (TYP.)
£ N
= < B
: 2 \
g 2 OPPOSITE
A
-2 \8&/ v ~ 1/
=% s 28 3/4" MAX. D.LO.—
= o= /
2 1~ |
nY, HANDLE
/
/
V7
9
/
1
| £
t——
8" MAX.
(TvP)

f i 4 /
NO. 10 SCREWS OR 3/16” CONCRETE SCREWS
6" (TYP.)

INTO SUBSTRATE (ONE AT EACH SILL CORNER)
SEE "FRAME ANCHOR REQUIREMENTS TABLE" ON
SHEET 1 FOR OTHER FASTENER REQUIREMENTS.

EXTERIOR ELEVATION
SINGLE _RECTANGULAR QUTSWING DOOR WITH
MULTI-POINT LOCK SYSTEM

NOTE: 1) PANIC DEVICE LOCK SYSTEM IS ALSO APPLICABLE TO THIS
DOOR. SEE ACTIVE PANEL ON DOUBLE PANIC DOOR ELEVATION
FOR DETAIL.
2) RECTANGULAR DOOR SHOWN, FULL OR HALF ARCH TOP
ALSO IS APPLICABLE WITHIN LIMITATIONS OF DOUBLE ARCH TOP
ELEVATION ON SHEET 2.

\

/\'SEE "CORNER

CONSTRUCTION
REQUIREMENTS"
ON SHEET 10.

16" MAX. 0.C.
(TYP.)

OPPOSITE

p—

|H

38 1/8" MAX. FRAME WIDTH (F.W.)
6" MAX.
(1ve) -
6 —
| £
mj> /
TYP. FRAME SCREW AS —
|| SHOWN (1 AT EACH
11 |l FRAME CORNER & 16"
0.C. AT SIDES). SEE
"FRAME ANCHOR
N REQUIREMENTS TABLE” ON
SHEET 1 FOR OTHER |
FASTENER REQUIREMENTS—"
| \
z @ N
. AP LOCK AN
g S — ] HARDWARE N
L (] )
I .
>
: =
E » M
x - &/ ¥ v
= 3 ]
w© T .
>~ oL ii— /
2 N6 1 /
- HANDLE
/
/
/ 7
L UL/
—+——]
8" MAX.
(TYP.)
f I

NO. 10 SCREWS OR 3/16" CONCRETE SCREWS —

INTO SUBSTRATE (ONE AT EACH SILL CORNER)
SEE "FRAME ANCHOR REQUIREMENTS TABLE™ ON

SHEET 1 FOR OTHER FASTENER REQUIREMENTS.

EXTERIOR ELEVATION

(KN
m»w

Dij LJWWJ

SINGLE_RECTANGULAR INSWING DOOR

NOTE: 1) RECTANGULAR DOOR SHOWN, FULL OR HALF ARCH TOP
ALSO IS APPLICABLE WITHIN LIMITATIONS OF DOUBLE ARCH TOP
ELEVATION ON SHEET 2.

SEE "FRAME ANCHOR REQUIREMENTS TABLE" ON
SHEET 1 FOR OTHER FASTENER REQUIREMENTS.

INTERIOR ELEVATION
SINGLE FIXED PANEL

(WITH INSWING DOORS)

SAME AS WITH DOORS.

[~ 38 1/8" MAX. FRAME WIDTH (F.W.) —]
6" MAX.
() -
. 7 -~ ~\
\ 'S
_ _/\ Wl 2 ™-SEE "CORNER
TYP. FRAME SCREW AS CONSTRUCTION
SHOWN (1 AT EACH REQUIREMENTS
FRAME CORNER & 16" ON SHEET 10.
0.C. AT SIDES). SEE
"FRAME ANCHOR
] REQUIREMENTS TABLE” ON |
SHEET 1 FOR OTHER |1
FASTENER REQUIREMENTS—]
16" MAX. 0.C.
= (TYP)
=
Z <9 427 (—
| (]
I .
g 2 | opPoSITE
E n /AN A
x = @/ v e &/
= ™M
oQ — e
o
>
3
8" MAX.
(TYr.)
bl D
NO. 10 SCREWS OR 3/16" CONCRETE SCREWS ——— )
INTO SUBSTRATE (ONE AT EACH SILL CORNER) ~—6" (TYP.)

NOTE: 1) SIDELIGHT PANELS MAY HAVE FULL OR HALF ARCH TOP

DRAWN BY: CHECKED BY:
TJW. W.W.S.

PLOT: DATE:
1=16 12/09/02
=4
<
[=}
4
Q
=
a
(4
(3]
0
w
(=]
-4
5]
7]
2
[«
o
4
§ <
= .
=43
ot ¥ <P
[&] momm
gl €2 °13
;N—IL?
& J <-4
ol -
= = = o
215228
z| ©2=x
MY <C
. g"’)ﬂ_
ol =
=
= I
g o
o}
alc
<
LI
Nl £
DO £
-
n
P o a
Zlz .3
8| B s
g o 837
Z . w o
_D_P— 2]
ot 5
g zZ 0 E‘
o | WG yyc
=| & 28
=] uﬁcgg
= LD wad
-3 U-'(/)E;:l
35 LZ 5590
w2 |, 58 zan
- Q gcnl
E™ |gR0 58]
Z0- =8
[ =
B 5';588«3‘-&1
= %) 4
I 2
S 3= Z
u
o
oL, .
= o
25\ |#
o S
eV
SIF 5~
= é
=
DRAWING NO. | REV.
SHEET NO.
4 o 12

"~



DRAWN BY: JCHECKED BY:

— I i, _ : .

STRIKE FASTENER (5 R A MIN. 2X4 BUCK AND TAM. WS,
@8- FRAME ANCHOR (SEE ELEVATION) MAY BE PER STRIKE INTO MIN. 2X4 BUCK R STHKE 0 ¢ FASTENER BY OTHERS ", oo

USE OF NAIL FIN FRAME ANCHOR (SEE

POSITIONED AT THIN OR THICK SECTION OF JAMB. BUCK PER ELEVATION) AND FASTENER BY BUCK PER ELEVATION)

FRAME HEIGHT (F.H.)
FRAME HEIGHT (F.H.)

& FIN NAL IS e yin A e QTHERSs - . e - . ELEVATION) MAY BE .
OPTIONAL & (T T NN, 2X4 BUCK AND e A T ! | S pOSITIONED AT THIN OR |3
SHALL NOT FASTENER BY OTHERS i THICK SECTION OF JANB.
REPLACE FRAME -
ANCHORS. (TYP.) v 1 /‘gH MAX. - 1/ NAX, N /;lmAx.
M SHIM z
Tl T 5 B B
— §\ * § /§ { é
8 M) ‘ ﬂ—_"pgiéu = z
\
\@ (N N \_@ g
47) ‘ 46 SRS
A¥6 oA
— — — Z.o
- W r/ N '7 ™~ » 2: §- xQ
\ SEE GLAZING DETAIL . . _~SEE GLAZING DETAL \ SEE GLAZING DETAL Eog
ON SHEET 10. ON SHEET 10, ON SHEET 10. : 2529
- <
¥ ) R u i . EE
VALY VLY RUITRY =351
/ / / = Sn=8
ZECI NG 1 GECANGE 1N EEANANG 1 il 352
— —~— — ':_E o,
. &
Lt
T
Lt
=
<
; \ z

inY
S~

ALUMINUM CLAD MAHOGANY 1 3/4" OUTSWING & INSWING FRENCH DOORS
MANUFACTURER

) “

o 3

z 5

~

A 5 e
Z 3w 3

g E.8

8 oy

A A A Z =5

y =Y 5 Bgy

32 NOTE: ADA THRESHOLD IS 3 432

i 9 APPLICABLE TO ALL 22 8zs

25 OUTSWING DOGRS. M= o3 287
ax s = z0 2

@ —— @ b IS .3 83°

Z ]

=/ =it 2% - 2 S

® ' 2 CERR:

4
1
‘ﬂﬁ

J

Lan

et
L& s

Lo
T a4

@9
ars U ] === LI (AN T v
L 5 R A— o

SLL KR ! comwos 357
SILL ANCHOR SILL ANCHOR /

»
CERTIFICATION
W
WARREN W. SCHAEFER, P.E.
P.E. NO. 44135

(SEE STRIKE £EE ELEVATION) SYNBOARD SUBSILL
ELEVATION) FASTENERS Approvad as complylag 93 ADHERED TO THRESHOLD
SECTION (SEE Florids Bying Co9 SECTION /&
g R e ELEWTION) SECTION /8 SR 172 FOTCE) | I
CALE: 1/2 FULL\ &/ SCALE. 1/2 FULL\G5/ FOR DETAL NOT SHOWN, SEE SECTION "A”. 1197

SHEET NO.

W N
FOR DETAIL NOT SHOWN, SEE SECTION "A". 5 o 12

! —— ' |




—

DRAWN BY: FCHECKED BY:

ROOFING NAIL AS REQD. R
MIN. 2X4 BUCK AND FRAME ANCHOR (SEE o P00 02

\—ROOF!NG NAIL AS

REQ'D. FRAME ANCHOR (SEE ELEVATION) MAY BE

H C . Q
g DN\ OO N T ORHACRTONOT S s b o EERIKEE[E?E(EO Sk roes o oers /) oA
& FIN NAIL 1S S N e et e a—MIN. 2X4 BUCK AND e R i s &
OPTIONAL & N FASTENER BY OTHERS -
g?é&\CEO;RAME === \</ _1/47 NAX. = — ; 1/4" NAX. =L = 1/4" NAX.
ANCHORS. (TYP.) : SHIM SHIM  SHIM SHiM
s b

|
O &

REVISION DESCRIPTION

®§
? R
<l

3 vimy @_/ \@
[+
E-E
SEE GLAZING DETAL = < SEE GLAZING DETAL = ~ — 228,
ON SHEET 10. \/ : ON SHEET 10. \/ | : \ SEE GLAZING o3
. \ 1\ ) / \ ( DETALL ON SHEET =52
by VT ey, "
| =551
/ / / CTm=
N EXTERIOR . ==
Nl [BxeRoR | ~ Ul ICICITHI NS Ei2 EEE

MANUFACTURER

A
7\

FRAME HEIGHT (F.H.)
FRAME HEIGHT (F.H.)
FRAME HEIGHT (F.H.)

ALUMINUM CLAD MAHOGANY 1 3/4" OUTSWING & INSWING FRENCH DOORS

L 0/ ]

o g

Z T

. yex @ : @ detal

3/4" WEEP HOLE - “' (36) P : o™ 527
APPROX. 4" FROM === 5%- " 54

EACH END ~ o 56 A7 xE 38

% T Y S

- = : B3y
46 5 g %% %%E

23 55 E [ER0az]
NieY =t WL

ol S s 13¥ U

< z ., Q

Il & /-@ z I8= £

~ SEALANT BY d N .

i . é , OTHERS w2 8 S / N

) (58] .
R LS WARNANN . 22 =8
_ A L~ 2% P! 1 ol U3
. L < ." * <a » "‘. ‘ . ‘ : ‘1 ::4':.::-:.4 % ‘ " S é g é%
P B | o “USILL ANCHOR = 24
SEALANT BY il oz \ o
SEE ELEVATION < W\ |z

OTHERS SILL ANCHOR AWW'QH STRIKE FASTENERS ( : = 2
(SEE D g > , SECTION  /E  (SEE ELEVATION) SECTION <

SECTION ELEVATION) ) SCALE: 1/2 FULL \6./ SCALE: 1/2 FULL\6/ E——

SCALE: 1/2 FULL\ 6/ FOR DETAIL NOT SHOWN, SEE SECTION "D". 119
‘ SHEET NO.
6 o 12

"~



N - —
.
' § : = - DRAWN BY:  JCHECKED BY:

~ROOFING NAIL AS TAM. WH.S.
REQ'D. FRAME ANCHOR (SEE ELEVATION). MAY BE ) . R T
POSITIONED AT THIN OR THICK SECTION OF JAMS. 1/4 FRAVE WDTH (1)
USE OF NAL FINN N\ 5 "7 oo ofa oo o o e MAX. SHIM MIN. 2X4 BUCK "
& FIN NAL 1S N\ T et T e = MIN. 2X4 BUCK AND AND FASTENER ,~FRAME ANCHOR (SEE ELEVATION). MAY %
OPTIONAL & \ FASTENER BY OTHERS BY OTHERS BE AT THIN OR THICK SECTION OF :
SHALL NOT N | e, JAMB N
REPLACE FRAME T SHIM B SHIM ' "-‘,":' o (\ /3 -
ANCHORS. (TYP.) /_ 53 ] /—@ é
e g
‘ 5 SEE GLAZING DETAL & g
, ON SHFE[ 10. .
- 1 \ HHHH A // \
|: . { — o— \
S I h T
P WTF7 T oo/
ROOFING —. " \ — § )
NALAS . \—‘ 2.0
SEE GLAZING DETAL z ~ REQ'D. @9~ =1 <8,
ON SHEET 10. \/ \ SEE GLAZING DETAL 2| 8273
i \ \ @ EXTERIOR . ON SHEET 10. & ; g dpl
(4] =
= = o
\ @ S// USE OF NAL FIN & SECTION _ 7 ( s| z554
N Be FIN NALL IS SCALE: 1/2 FULL\Z/ 2 5 n38
[ EXTERIOR | |l _ = OPTIONAL & SHALL pe RE
— = NOT REPLACE SECTION /71 of &
= FRAME ANCHORS. SCALE: 1/2 FULL\ .7/ = ls
% (TYP) lg 5
/] 3 q
rl_ / & S
z
5
Q
5
Q
=
=
=
3
2

23 =7

J § 1 D

a _ @
A . j : / \

600 SANDTREE DRIVE; SUITE 2038

& CONSULTING, P.A.

OPTIONAL

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33403
PHONE: 561-—-775—4902 FAX: 561-775-4903

N\
N\
DRAWING TITLE
CONSULTANTS

Py

PAR

AN Yy

/ /4

Y ."‘ ','-.:‘ EURE R E‘ /’, C = |
SILL ANCHOR ———— NOTE: SCREW MAY BE POSITIONED SUCH J @_/ \_@

(SEE ELEVATION)  THAT THE SCREW HEAD IS LOCATED AT

SECTION * THE BASE OF THE THRESHOLD (PILOT
SCALE. 172 FULL @ HOLE AT TOP OF THRESHOLD MUST EXTERIOR | SECTION /72
' THEN BE CAPED & SEALED) SCALE: 1/2 FULL\Z/

.
e

A

T N
N VoA A , SEE GLAZING DETAILL.
ﬁ\ NN ININZ 1P K ON SHEET 10.
[ IR N 1
\Z

— A=
-
2
AN
"
NN
77

o] -
4« .- 3
CLTY e Td S

N

SEALANT BY
OTHERS

CERTIFICATION
MAR 2 6 2003
P.E. NO. 44135

WARREN W. SCHAEFER, P.E.

2

DRAWING NO. [RI

1197

SHEET NO.

7 o 12




—

FRAME ANCHORS. (TYP.)

DRAWN BY: CHECKED B8Y:
@ TJW. WW.S,
T, 2 Dﬁ.TzE}og/oz
USE OF NAL FIN & FIN © EXTERIOR
NAL IS OPTIONAL & (5 "
SHALL NOT REPLACE . 8
' =

l EXTERIOR ] N
[i:]

—

< Al
RooFNG NL—"+ ] \U

REVISION DESCRIPTION

AS REQD. ®
'.': ‘ / \ ‘ l .
FRAME ANCHOR (SEE -/ — -l 7 AN .
ELEVATION). MAY BE FQ_A_ ! 53 g

POSITIONED AT THIN OR
THICK SECTION OF
JAMB.

AN

= \
w\>/J / L\// /\ SEE GLAZING DETALL

//,‘
|

\
— ON SHEET 10. o
o o/ N\ 19
MIN. 2X4 BUCK AND 6) S| 228
FASTENER BY OTHERS S| Eo53
SEE GLAZING DETAIL g ES2Y
ON SHEET 10. i R
€9 > ( gl Z=eq
SECTION /TN Z1 52258
1/4" : ek
FRAME WIDTH (F.W.) SCALE: 1/2 FULL\B8/ So3
MAX. SHIM 5| 3BT
| SECTION iy of &
SCALE: 1/2 FULL\.8/ 38
USE OF NAL FIN & FIN S I
. NAIL IS OPTIONAL & EXTERIOR Nl
" A;(/ AéHIM FRAME WDTH (F.W.) SHALL NOT REPLACE .. — N
: FRAME ANCHORS. (TYP.) ¢ -
MIN. 2%4 BUCK AND i i I 2
FASTENER BY OTHERS S N 2z .1
; . N\ e ( S| B8
Y = Z S w g
7 ot 5p°
v ROOFING NAIL -/ U Bassieeg @ | 2| Bolys
s [ A
FRAME . SEE GLAZING DETAIL AS REQD. (9 = 5% 52,
ANCHOR . ON SHEET 10. i % 2| B3 wg§
C oo TN KR
ELEVATION) T / A [ 1™ 2 1233 z8n
ROOFING NAIL ; -" \ /’ T T i : \ 2 Eg*‘ §§§-
, _ iy FRAME ANCHOR (SEE A - e |33 g
AS REQD. \ i il ELEVATION). MAY BE R diiwakinniiinuuniiinee ) g 8= %
o UL UL : POSITIONED AT THIN OR = ] .
j 7 THICK SECTION OF X — X
JAMB. zm e
MIN. 2X4 BUCK AND~/ 2= b3
: LAZING DETA = £
FASTENER BY OTHERS & oy o AL Sleo i
: ' E ‘N\ =
USE OF NAIL FIN & FIN W za
NAIL IS OPTIONAL & = z
SHALL NOT REPLACE 18 g
FRAME ANCHORS. (TYP.) MAX. SHIM FRAME WIDTH ( E—
SECTION iy EXTERIOR SECTION /N 1197
SCALE: 1/2 FULL\38/ SCALE: 1/2 FULL\.8/ e 1

_



/4 FRAME WITH (FW) —— USE OF NAL FIN & FIN
MAX. SHIM NALL IS OPTIONAL &
SHALL NOT REPLACE
MIN. 2X4 BUCK AND FRAME ANCHORS. (TYP.)

FASTENER BY OTHERS

FRAME
ANCHOR

1

N
®

18
/@
/-

Iy - ll
& -'=.: -L]
(SEE N I FRAME <\ , SEE GLAZING DETAL
SEE GLAZING DETAL -
ELEVATION) @ ONSET (ASI\IECEHOF:\ I }xxxfm_ ON SHEET 10.
& ' ELEVATION) -+ ::::LTL‘ ©
] SHIM /—@ i ] =y /—. ~ TN
- ~ ,
i / /r )\_]\ : ‘n..—ZI— [/'_i | \
—‘/ \ i '. | j—-
RO \ l v [peveiiveneniriisy /
_E:ﬂ ‘ = 3 Z / r-"- B \\ \\ E,J_ P
\ A s
SEALANT MIN. 2X4 BUCK AND
@ @ FASTENER BY OTHERS
USE OF NAIL FIN & SECTION  /p .
1/4
FIN NAL IS : FRAME WIDTH (F.W.)
OPTIONAL & SHALL SCALE: 1/2 FULLA\8/ MAX. SHIM
NOT REPLACE
FRAME ANCHORS. SECTION /a3
(TvP.) SCALE: 1/2 FULL\ 9/

INTERIOR MULL MULL SHIM
COVER AS REQE\ /
OPTION IN PLACE OF
| I 4 I ] CORRUGATED FASTENERS:
|

NO. 10 X 2 1/2" SCREWS
WITHIN 6" OF ENDS &

"X 1 MAX. 16" 0.C. EA. SIDE
3/8" X 1" CORRUGATED —
FASTENER 6" FROM ENDS gt >/ -OF MULLION
& MAX. 12" 0.C. (NOT
REQ'D IF #10 SCREWS

ARE USED)

B
TS

SILICONE SEALANT

SECTION /&Y

SCALE: 1/2 FULL\ 9/

-~

EfiLZ

DRAWN BY: CHECKED 8Y:

TAW. WWS.

PLOT: DATE:
12,

}og/oz

o _

REVISION DESCRIPTION

NO.

3313 SW. 42ND AVE.

PALM CITY MILLWORK, INC.
PALM CITY, FL 34990
800-273-5598

MANUFACTURER

ALUMINUM CLAD MAHOGANY 1 3/4" OUTSWING & INSWING FRENCH DOORS

4]
=z
@
H s
Z
4
4]
Q:Z
i
>
<9
o) Lo
..} U)o
= %mo
’.- .
2 5';"8
= o
Z F
= o=

600 SANDTREE DRIVE; SUITE 203B
PALM BEACH GARDENS, FL. 33403
PHONE: 561~775~4802 FAX: 561-775-4803

SILICONE SEALANT
EXTERIOR
@~ 3
OPTION IN PLACE OF SHy [i] vd
CORRUGATED FASTENERS:
NO. 10 X 1 1/2" SCREWS Nesnivewd] XXo SEE GLAZING D
WITHIN 6” OF ENDS & ON SHEET 10.
MAX. 16” 0.C. EA. SIDE MULL SHIM
OF MULLION R_\W 0yl
| =" =
L %{ ] P
IN Ld -
/ A ARRRBLY 4 3 } N rEZ>
,/If— Giﬁ:\t D
! LN
3/8" X 1" CORRUGATED FASTENER 6" ©)
FROM ENDS & MAX. 12" 0.C. (NOT \
REQD IF #10 SCREWS ARE USED
f ) SECTION /3
INTERIOR MULL SCALE: 1/2 FULL\Q/

COVER AS REQ'D.

ZEN\ &
AN
< :
o Bt 32
o % g*
= g
=
DRAWING NO. |REV.
1197
SHEET NO.
9 o 12




—

SILICONE SEALANT
(DOW 1199
OR 995)

(@) #10 x 2 1/2"
. 5.5, WOOD
SCREWS

Y JAMB CORNER DETAIL

NQOTE: CLAD CORNERS ARE MITER CUT & JOINED WITH
(1) NO. 8 X 1" S.S. SMS SCREW
(INSWING JAMB SHOWN; OUT—SWING JAMB IS SAME CONSTRUCTION)

CONTINUOUS WOOD
MEMBER LESS IN SIZE
THAN A 2X_ BUCK TO BE
/4. MIN. 3 1/2" DEEP. NOT
N4 REQUIRED WHEN 1/4" OR
LESS SHIM SPACE EXISTS

(- “g %’ - s (USE SHIMS ONLY).

SEALANT &
BACKER ROD BY

OTHERS — \
| L

ANCHOR REQUIREMENTS TABLE ON SHEET 1 FOR

DIRECT MOUNT DETAIL OTHER INSTALLATION REQUIREMENTS).

HEAD DETAIL SHOWN; OTHER JAMBS SIMILAR
SEE OTHER SECTIONS FOR DETAIL NOT SHOWN

1/2" THICK x 1 7/8"
DEEP x 3 1/4” TALL
(TOP) & 6 3/8" TALL
(BOTTOM) TENON AT
HORIZONTAL DOOR RALLS

o

|

T ¥

RN

o

TR

P! [

I

Ltas] S\ WORTISE IN VERTICAL DOOR
7" >~._| MEMBERS TO ACCEPT

T TENONED MEMBER
7
‘/-\_, NOTE: ALL MEETING STILES & RAILS TO
BE GLUED AT MORTISE AND TENONED

MEMBERS WITH FRANKLIN
INTERNATIONAL MULTIBOND-2000 WOOD
GLUE

RAIL TO STILE CORNER DETAIL

© —| |~ SEE OPTIONS BELOW
1/2° M, .
BITE
OPTIONAL
i DECORATIVE CAP
ADHERE STOP T0
STILE/RAIL WITH

\ SILICONE (3 SIDES OF
2 N GLAZING POCKET)

v
ZING DETAIL

OPTION #1: 7/16" THICK SOLUTIA SAFLEX LAMINATED GLASS
(3/16" ANNEALED/0.090" SAFLEX PVB/3/16"

wooo GLUE LT A J_]\ DOW 995 STRUCTURAL

ANNEALED)

\—3/16" CONCRETE SCREWS TO REPLACE ALL NO. 10 OPTION #2: 7/16" THICK DUPONT SGP LAMINATED GLASS (3/16"
FRAME SCREWS, STRIKE SCREWS AND LONG HINGE ANNEALED//0.090” SGP/3/16" ANNEALED)

= SCREWS (REF. ELEVATIONS FOR SCREW LOCATIONS &  OPTION #3: 1/2" THICK SMITH MOUNTAIN IMPACT SYSTEMS

LAMINATED GLASS (3/16" ANNEALED/0.120"
UVEKOL/3/16" ANNEALED)

OO~ [ TIF®
4r ﬂ_

SEAL JOINT WITH I (2) #10 x 2 1/2" SS.
DOW 995 OR 1199 || | /woon SCREWS INTO
l

SILICONE I WOOD PART OF SILL
L
™~
L N (4) 18 GA. X 3/8" x
T 3/4" SS. STAPLES @

N
=
w
o
m

\_SYNGOARD SUB SILL
CORNER DETAIL @ SIDE JAMB & THRESHOLD

(INSWING DOOR)

@ — D)

M (2) 10 x 2 1/2" SS.
SEAL JOINT WITH WOOD SCREWS INTO
DOW 995 OR 1199 /WOOD PART OF SILL
SILICONE (NOT APPLICABLE TO
@_\ ADA SILL)

™~ I
ol T T TTTITATY
< Y %

(L —(4) 18 GA X 3/8" x
3/4" S.S. STAPLES @
EA. SIDE

SYNBOARD SUB SILL
CORNER DETAL @ SIDE JAMB & THRESHOLD
(QUTSWING DOOR)

N @) H0 x 2 1/2° S5.
SEAL JOINT WITH WOOD SCREWS INTO
DOW 995 OR 1199 WOOD PART OF SILL

SILICONE - (NOT APPLICABLE TO

ADA SILL)

\_SYNBOARD SUB SLL
CORNER DETAIL @ SIDE JAMB & THRESHOLD
ADA THRESHOLD

X

Approved as complying with the
Oute 00/ 22 /0

NOAB 0201

CHECKED BY:
W.W.S.

DATE:
12/08/02

DATE

BY

REVISION DESCRIPTION

MANUFACTURER

3313 SW. 42ND AVE.

PALM CITY MILLWORK, INC.
PALM CITY, FL 34990
800-273-5598

ALUMINUM CLAD MAHOGANY 1 3/4" OUTSWING & INSWING FRENCH DOORS

DRAWING TITLE

CONSULTANTS

& CONSULTING, P.A.
600 SANDTREE DRIVE; SUITE 2038

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33403
PHONE: 561--775~4902 FAX: 561~775-4903

5 7003

CERTIFICATION
MAR 26

¢ SCHAEFER, P.E.

z
i
@
<
=

Yo}
M
pr
<
S
=z
uf
a

DRAWING NO. | REV.

1197

10

SHEET NO.

or 12

_



—

‘ PANEL REINFORCEMENT PLATE

@ HEAD STRIKE PLATE

I 4530 ! Bﬁmﬂj | 4.546 | |-1-?12383—— N 0] 05" | =7 1750 ) g 1750 ‘
0.719 . . p——
T R (fﬁs ul 0.688 | T ‘o._efs_z N T s :
- 1 1932 — T () INsHiNG DOOR o3 OT -1
i 2.407 i @ INSWING DOOR JAMB INTERIOR STOP S Eg N%
(1) QUISHING DOOR JAMB , , B | & 3 S
| 3.437 | l |
| ] 7.052
, 4.250 | T 0.869 —{ 0813
. 1916 - NSWING DooR VP
3 | 2375 ’_’ U ASTRAGAL OUTSWING DOOR
= — ] l F L i 2.170 i T ASTRAGAL
' — 3890 WOOD THRESHOLD
{ 3.927 | 4.000 @ 1030~ _L
(3) SILE & TOP RAL 4 NACTVE PANEL MEETING - LOE :
| 3800 | o 1 l' | —f_ 50— 1
e 475 1 0.406 [~—1.530— 0.607 —
e B Y e —F 0094 £ 2 + OPTIONAL THRESHOLD 0375—~ - _| i_
0.938 r 0.094 0.654 r T 1 _r! S EXTENSION . n
| T T T i :
(T5) JAMB COVER * | 4.250 | 1516 GLASS. STOP 0,094 —~{|— Tl
. STILE_COVER (5) BorToM RAL GLASS STOP s | '
0.221 1.667
0190'_\ 0771 1750 — B3
r 0.685 4875 ~= ~—0.094 N
0.094 —f - —~-—1.625 0.250
L» 640——I 0.062 4 17 I ‘_‘ '—- 0.188
(20) ASTRAGAL BASE (27) ASTRAGAL CAP g = 2 0?9 Cﬁ_@—(—‘m g
5.500 T - T T 5,000 f :ﬂ
3.062 2438 : - = ADA THRESHOLD I L
o TOP_RAIL
| | ‘P | ] O_‘gﬁg SNEOMRD O COVER
(T LCowm oorsd (23) INSWING DOOR THRESHOLD ) Ui s S )
ose! (72) QUISHING DOOR THRESHOLD COVER 0 e~ s s PEf iy {
0688 —”——ooosgs3 : '——-1465——] 4 £0'075 0.313 -9:875 |[~—1.875 7 1.875 9 " rn b
035« 1o _f 0-295]_——| |—[o.266 O @ 6/ \/“// O 1.2&0 %Wbmﬂ —] i__o 375
T —200— T ‘ NAL PN (29) MULLION CLIP ° _ T=o0125" Of | R BOTTOM RAIL COVER
INSWING DOOR_INTERIOR STOP STRKE HOLE (35 SILL STRIKE_PLATE / |
COVER / ‘ 8.000 7
‘ : 10.250 o.5oo——f 1.750 1.750 1,750 1,750 i /(5) 90.187
_L l——1.250 1.500 2.000 1.750 1.625 1 GZSH r _/f
0375 L\___, , % ° () () ° ;
& = O O T 03/16" Gi O / O 1'(;00 o) -/ o =7 T =01254
0.375 =
f (6) 90.250

W.W.S,

PLOT:

DATE:
1=2 12/09/02

DRAWN BY: {CHECKED BY:
T.JW.

REVISICN DESCRIPTION

NO.

DRAWING TITLE

[72]
z -
3¢
2| 223
x [e0)
Sl 273
g1 8= o
gl 53
d¥" o
2l E=£q
| 5228
Z| 232
3!"’)(
) o
) o
Z (e
= L
[
=
o |2
T
Nl
ol B
- M
xle &
Z| 2 T
14 Qg
) WS
g W 821
Zo' e 3
o 5z2°
3| 2s ik
]
et Zz ¥z"
xo
3| 5538
= LD was@
w
= i n e !
=} Lz Egw
T o o~
2 RO Za~
280 Fal
z0 ™ =B
g;""a 85?
2 b
8w 2
o= T

CERTIFICATION

WARREN W¢ SCHAEFER, P.E.

P.E. NO. 44135

DRAWING NO. |REV.

1197

SHEET NO.

11 o 12

L

_



~

[__—_-g) "
5

| BILL OF MATERIALS o | wws
- PLOT: DATE:
TEM # ITEM DESCRIPTION MANUFACTURER /NOTES ITEM # | ITEM DESCRIPTION MANUFACTURER/NOTES LR
PARTS FASTENERS i
1 |OUTSWING JAMB WHITE (SUGAR) PINE 50 {18 GA. X 1" FINISH NAIL 2" FROM CORNERS & 5" MAX. O.C. S
2 INSWING JAMB WHITE (SUGAR) PINE 51 {18 GA. X 7/8" X 3/4" S.S. STAPLES 5" FROM CORNERS & 6" MAX. 0.C. .
3 |STILE & TOP RAIL LVL CORE WITH MAHOGANY VENEER 52 1#12 X 1 1/8" FH SS WOOD SCREW 4 PER HINGE INTO DOOR PANEL
4 |INACTIVE PANEL MEETING STILE LVL CORE WITH MAHOGANY VENEER 54 |#8 X 3/4" S.S. SCREW 6" FROM TOP & BOTTOM & 6” MAX. O.C. -
5 |BOTTOM RAL LVL CORE WITH MAHOGANY VENEER 55 |{#8 X 1" FH WOOD SCREW 3 PER HEAD STRIKE PLATE 5
6 |INSWING DOOR INTERIOR STOP MAHOGANY 56 [#10 X 2 1/2" FH SS SMS 6 PER REINFORCEMENT PLATE S
7 |WOOD THRESHOLD PINE 58 [#10 X 2 1/2" FH SS SMS 5" FROM ENDS & 16" MAX. 0.C. 8
8 INSWING DOOR ASTRAGAL MAHOGANY 59 {#10 X 2 1/2" FH SS WOOD SCREW 3 PER THRESHOLD EXTENSION (AT ENDS & MID SPAN) %
9  |OUTSWING DOOR ASTRAGAL MAHOGANY 60 |#12 X 3/4” WOOD SCREW 4 PER HINGE INTO JAMB @ OUTSWING DOOR (3 @ INSWING) g
10 |GLASS STOP MAHOGANY 61 |#10 X 2 1/2" FH SS WOOD SCREW TWO 2" FROM TOP & BOT. & 12" 0.C., STAGGERED :
11 |THRESHOLD EXTENSION 10AK 62 |48 X 1 1/4” WOOD SCREW 4" FROM ENDS & 12 O.C. 2
12 |SUBSILL 3/8" X 4 5/8" X SILL LENGTH COMPOSITE 63 |#8 X 2" S.S. WOOD SCREW 2" FROM TOP & BOTTOM & 12" MAX. O.C.
18 |JAMB COVER 6063-T5 ALUMINUM 65 |#6 X 1" FH WOOD SCREW 2" FROM ENDS & AT MIDPOINT OF DOOR RAIL
19 |STILE COVER 6063-T5 ALUMINUM 66 [#12 X 2 1/2" FH SS WOOD SCREW 1 PER HINGE INTO BUCK (AT INSWING DOORS ONLY)
20 |ASTRAGAL BASE 6063-T5 ALUMINUM -
21 |ASTRAGAL CAP 6063~T5 ALUMINUM S| o
22 |THRESHOLD COVER 6063-T5 ALUMINUM 2 '=’_:>;'§
23 |INSWING DOOR THRESHOLD SCHLEGEL HYDRO SILL; 6063—T5 ALUMINUM & OAK 2 .53
24 |ADA THRESHOLD 6063-T5 ALUMINUM gl 3 édﬁ
25 |TOP RAIL COVER 6063-T5 ALUMINUM AREE
26 |BOTTOM RAIL COVER 6063—T5 ALUMINUM zZ|l & =
27 |INSWING DOOR INTERIOR STOP COVER 6063-T5 ALUMINUM = S2®
28 |NAIL FIN (OPTIONAL) VINYL = g”’l
29 |MULLION CLIP 6063—T5 ALUMINUM 2.
31 |FLAT BAR 3/16" x 1" x 94" A36 STEEL (6 PER PANIC DOOR PANEL) 5 [¢
HARDWARE 3 |2
34 |HANDLE AS REQUIRED TO OPERATE DOOR 2
35 |SILL STRIKE PLATE 6063—T5 ALUMINUM D E
36 |PANEL REINFORCEMENT PLATE 304 S.S. =1 o 3
37 |HEAD STRIKE PLATE 6063—T5 ALUMINUM 3 Z .l
38 |HINGE (BRASS, S.S., OR PLATED STEEL) HAGER #1191 4 1/2" X 4 1/2" = bl ¢ D
39 |PANIC LOCK DEVICE VON_DUPRIN, INC. 98/9927 | Eat 3
40 |6—POINT LOCK HARDWARE G—U RINO #G—20384-22-0-3 3 5o “.’.Zé
41 |4—POINT LOCK HARDWARE G-U RINO #G-20384-22—0~3 = | oF 25,
42 |5-POINT LOCK HARDWARE K.F.V. #AS7370 2| 3533
43 |2—POINT FLUSH BOLT ASSEMBLY HAGER #282 OR KFV AS7000 HAGER SYSTEM CONSISTS OF A SINGLE MANUAL 3 E% £3d
SEALS & SEALANTS ACTIVATED FLUSH BOLT AT EACH THE HEAD & SILL; = 288 Zan
44| CORNER WEATHERSTRIP SIMPLE_SOLUTION, 0.600" X 1.782" KFV SYSTEM IS A SINGLE ACTIVATED 2—POINT LOCK. o [Epe8Et
45 |FOAM WEATHER STRIPPING CLEAN SEAL RIBBED FOAM ADHESIVE N g
46 |WEATHER STRIP SCHLEGEL Q-LON #QEBD—650 s o= z
47 |POLYFLEX SEAL SCHLEGEL #PF—109 U
48 | SEAL SCHLEGEL 5/32" BLACK FIN SEAL e o
49 |DOOR SWEEP VINYL z= Eé’
* WOOD USED WITH TEST UNITS WAS SELECT WHITE PINE AT JAMBS AND SELECT MAHOGANY AT ALL VANEERS, STOPS 5@ %:
AND ASTRIGALS. ALTERNATE WOOD SPECIES TO BE APPLICABLE WITH THESE DOORS AS A MAHOGANY SUBSTITUTE IS e &%
SELECT RED OAK, REDWOOD, FIR, RED MAPLE, HICKORY, DOUGLAS FIR, CHERRY OR BIRCH. AS A SUBSTITUTE FOR THE &= o
JAMBS, ALL WOODS ABOVE ARE APPLICABLE WITH THE ADDITION OF SOUTHERN PINE & MAPLE. O g
ES
[ DRAWING NO. |REV.
1197
SHEET NO.
12 o 12 _J




